
Ssc Cgl Tier I Previous Year Question Paper
Overview
Here, you can solve all the questions asked in Ssc Cgl Tier I Previous Year Question Paper on 2022-04-13 in the

Afternoon exam. The detailed solutions are also provided for every previous year question and some of these questions

can be asked again in your Ssc Cgl Tier I exam. There are 100 questions in the exam and 60 minutes are provided for the

Ssc Cgl Tier I exam. The Cutoff of the exam was 140 marks hence you should try to score at least 150 marks.

Ssc Cgl Tier I Previous Year Question Paper :
Questions and Solutions
Question 1 :
Which of the following animals has more than one heart?

Difficulty : Moderate Average Time : 41 Seconds

Options :
1. Porcupine

2. Chameleon

3. Tortoise

4. Octopus

Solution :
The correct answer is option 4 i.e. Octopus.

Octopuses or octopi are one of the most well-known animals with multiple hearts.

There are hundreds of species of octopus, but all have three hearts: one heart to pump their blood throughout their

circulatory system, and two to pump blood through their gills.

Question 2 :
Which of the following became the second state in the country to achieve 100% functional household tap connections

(FHTCs)?

Difficulty : Moderate Average Time : 46 Seconds

Options :
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Kerala

2. Sikkim

3. Telangana

4. Mizoram

Solution :
The correct answer is option 3 i.e. Telangana

Telangana became the second state in the country to achieve 100% functional household tap connections (FHTCs).

Jal Jeevan Mission (JJM) envisages the supply of 55 litres of water per person per day to every rural household

through Functional Household Tap Connections (FHTC) by 2024.

Goa has earned itself the unique distinction of becoming the first Har Ghar Jal state in the country as it successfully

provides 100% Functional Household Tap Connections (FHTCs) in rural areas covering 2.30 lakh rural households.

 

Question 3 :
Which of the following is an Indian ‘not for profit’ organisation, working on sustainable solutions to make sanitation and

water accessible to all?

Difficulty : Moderate Average Time : 57 Seconds

Options :
1. Pratham

2. Helpage India

3. Goonj

4. Sulabh International

Solution :
The correct answer is option 4 i.e. Sulabh International

Sulabh International is an Indian 'not for profit' organisation, working on sustainable solutions to make sanitation and

water accessible to all.

On March 5,2022, Minsitry of Jal Shakti, Ministry of Housing and Urban Affairs in collaboration with Sulabh

International organized an event "Swacchagraha".

It also featued a performance by Dhruva- The Sanskrit Band, the world's only muisc band based on Inida's oldest

own tradition of Vedic-gaan and Stotra-gaan.

Question 4 :
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Which of the following legislations ought to allow senior Indian magistrates to preside over cases involving British subjects

in India?

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. Ilbert Bill, 1884

2. Ingress into India Ordinance, 1914

3. Government of India Act, 1919

4. Age of Consent Act, 1891

Solution :
The correct answer is option 1 i.e. Ilbert Bill, 1884

Ilbert Bill, 1884 ought to allow senior Indian magistrates to preside over cases involving British subjects in India.

The Ilbert Bill was introduced on 9 February 1883 during the Viceroyship of Lord Ripon, which was drafted by Sir

Courtenay Peregrine Ilbert, the legal member of the Council of the Governor-General of India.

After this controversial bill, the formation of the Indian National Congress took place.

 

Question 5 :
The ______ is the extended margin of each continent occupied by relatively shallow seas and gulfs.

Difficulty : Moderate Average Time : 54 Seconds

Options :
1. deep sea plain

2. oceanic deeps

3. continental slope

4. continental shelf

Solution :
The correct answer is option 4 i.e. continental shelf.

The term "continental shelf" is used by geologists generally to mean that part of the continental margin.

This is between the shoreline and the shelf break or, where there is no noticeable slope, between the shoreline and

the point where the depth of the superjacent water is approximately between 100 and 200 metres.
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Question 6 :
As per Economic Survey 2020–21, India entered the top 50 innovating countries for the first time in ______ since the

inception of the Global Innovation Index in 2007.

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. 2019

2. 2018

3. 2020

4. 2017

Solution :
The correct answer is option 3 i.e. 2020.

India has entered the group of top 50 countries in the global innovation index for the first time, moving up four places

to the 48th rank akeeping the top position among the nations in central and southern asia.

According to GII, India has become the third most innovative lower middle-income economy in the world.

India ranks in the top 15 in indicators such as ICT (Information and Communication Technology) services exports,

government online services, graduates in science and engineering, R&D-intensive global companies.

 

 

 

 

Question 7 :
Who among the following freedom fighters hoisted the Indian flag at the Gowalia Tank Maidan in Mumbai during the Quit

India Movement?

Difficulty : Moderate Average Time : 59 Seconds

Options :
1. Aruna Asaf Ali

2. Sarojini Naidu

3. Tara Rani Srivastava

4. Matangini Hazra
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Solution :
The correct answer is option 1 i.e. Aruna Asaf Ali.

Aruna Asaf Ali was an Indian educator, political activist, and publisher.

An active participant in the Indian independence movement, she is widely remembered for hoisting the Indian

National flag at the Gowalia Tank maidan, Bombay during a Quit India Movement in 1942, giving the movement one

of it’s most long-lasting image.

She became a member of Indian National Congress and participated in public processions during the Salt

Satyagraha.

She was arrested, and not released in 1931 under the Gandhi-Irwin Pact which stipulated release of all political

prisoners. 

Question 8 :
A sum of Rs 4620 is to be paid back in 2 equal annual instalments. How much is each instalment(in Rs) if the interest is

compounded annually at 10% per annum?

Difficulty : Moderate Average Time : 65 Seconds

Options :
1. 2420

2. 2552

3. 2662

4. 2750

Solution :
The correct answer is option 3 i.e. 2662

P = Rs 4620

Rate of interest = 10% = 1/10

P  Installment

1st year   10  11.........(1)

2nd year  10   11  .........(2)2 2

Installment will same in both years so multiply by 11 in eq 1.

1st year   110  121
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2nd year  100  121

Here, P = 110 + 100 = 210 that is equal to the 4620

210 = 4620 

1 = 22

So, installment = 22 × 121 = Rs 2662

Question 9 :
 ______ is defined as the temperature to which the air would have to cool (at constant pressure and constant water vapour

content) in order to reach saturation.

Difficulty : Moderate Average Time : 56 Seconds

Options :
1. Dew point temperature

2. Air temperature

3. Relative humidity

4. Surface temperature

Solution :
The correct answer is option 1 i.e. Dew point temperature.

The dew point is the temperature the air needs to be cooled to (at constant pressure) in order to achieve a relative

humidity (RH) of 100%.

Dew point temperature is never greater than the air temperature.

Therefore, if the air cools, moisture must be removed from the air and this is accomplished through condensation.

Question 10 :
Who became the first player to hit 350 sixes during IPL2021?

Difficulty : Moderate Average Time : 49 Seconds

Options :
1. AB de Villiers

2. MS Dhoni

3. Chris Gayle
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Rohit Sharma

Solution :
The correct answer is option 3 i.e. Chris Gayle.

Chris Gayle became the first batsman to hit 350 sixes in the history of the Indian Premier League (IPL).

Gayle achieved the iconic milestone in the IPL 2021 match between Punjab Kings and Rajasthan Royals at the

Wankhede Stadium in Mumbai. 

 He later hit his 351st six in IPL history against Rahul Tewatia.

Question 11 :
Who among the following was named Wisden Almanack's ODI player of the 2010s in April 2021?

Difficulty : Moderate Average Time : 50 Seconds

Options :
1. Virat Kohli

2. Rahul Dravid

3. Sachin Tendulkar

4. MS Dhoni

Solution :
The correct answer is option 1 i.e. Virat Kohli.

 

India captain Virat Kohli has been named Wisden Almanack’s ODI player of the 2010s, while England all-rounder

Ben Stokes was declared the ‘Cricketer of the Year’ for a second successive time by the highly-rated annual

publication.

The 32-year-old Kohli, who made his ODI debut in August 2008 against Sri Lanka, is among the finest batsmen of

all time, and has amassed a staggering 12,169 runs from 254 ODIs.

Question 12 :
The salinity of ocean waters is calculated as the amount of salt (in gm) dissolved in ______ gm of seawater.

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. 10,000
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1000

3. 100

4. 10

Solution :
The correct answer is option 2 i.e. 1000.

Salinity of seawater is usually expressed as the grams of salt per kilogram (1000 g) of seawater. 

Water and soil salinity are measured by passing an electric current between the two electrodes of a salinity meter in

a sample of soil or water. 

Question 13 :
Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select 'No

improvement required'. Many a man has succumbed to his temptations.

Difficulty : Moderate Average Time : 48 Seconds

Options :
1. men has

2. a men have

3. man has

4. No improvement required 

Solution :
The correct answer is option 4 i.e. No improvement required.

Given sentence: Many a man has succumbed to his temptations.

The given sentence is grammatically and contextually correct. Hence, no improvement is required.

Question 14 :
Select the option that can be used as a one-word substitute for the given group of words. Sharpness and accuracy of

judgment

Difficulty : Moderate Average Time : 44 Seconds

Options :
1. Expreience
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Estimation

3. Acumen

4. Knowledge

Solution :
The correct answer is option 3 i.e. Acumen.

One Word Substitution means using a specific word to replace a wordy phrase or sentence and making it shorter, concise,

and clearer to understand.

The sharpness and accuracy of a judgment is known as acumen.

The practical contact with and observation of facts or events is known as an experience.

A rough calculation of the value, number, quantity, or extent of something is known as an estimation.

The facts, information, and skills acquired through experience or education is known as information.

 

Question 15 :
The 60th Amendment to the Constitution of India increased the ceiling of profession tax from â‚¹ 250 p.a. to ______ p.a.

Difficulty : Moderate Average Time : 58 Seconds

Options :
1. â‚¹7,000

2. â‚¹5,000

3. â‚¹1,000

4. â‚¹2,500

Solution :
The correct answer is option 4 i.e. â‚¹2,500.

 

The Act may be called the Constitution (Sixtieth Amendment) Act, 1988.

Clause (2) of article 276 of the Constitution specifies that the total

amount payable in respect of any one person to the State or to any one

municipality, district board, local board or other local authority in

a State by way of taxes on professions, trades, callings and
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employments leviable by a State Legislature under clause (1) of that

article shall not exceed two hundred and fifty rupees per annum

Question 16 :
Select the most appropriate synonym of the given word. Succulent

Difficulty : Moderate Average Time : 53 Seconds

Options :
1. Decent

2. Coarse

3. Juicy

4. Foul

Solution :
The correct answer is option 3 i.e. Juicy.

Synonym: Words that have the same or nearly the same meaning.

Given word: Succulent

Meaning: tender, juicy, and tasty.

The word that seems to be its synonym is 'Juicy' as it means full of juice.

Meaning of other words:

Decent: conforming with generally accepted standards of respectable or moral behaviour.

Coarse: rough or harsh in texture.

Foul: offensive to the senses.

Question 17 :
Who among the following defeated Harshavardhana when he invaded the Chalukya kingdom in the Deccan?

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. Mangalesha

2. Pulakesin II
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Vikramaditya I

4. Kirtivarman I

Solution :
The correct answer is option 2 i.e. Pulakesin II.

Pulakesin II, the son of Kirtivarman, was one of the greatest rulers of the Chalukya dynasty. He began his rule in the

year 620 A.D

During his reign, he consolidated his authority in Maharashtra and conquered large parts of the Deccan.

His greatest achievement was his victory in the defensive war against Harshavardhana.

Question 18 :
What is the projected growth rate of Gross Domestic Product (GDP) for India in 2021 as given by The International

Monetary Fund (IMF) in April 2021?  

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. 13.7%

2. 10.2%

3. 11.6%

4. 12.5%

Solution :
The correct answer is option 4 i.e. 12.5%.

The International Monetary Fund (IMF) raised its FY22 growth forecast for India to 12.5% from 11.5%

The Fund expects world output to grow 6% in 2021 and 4.4% in 2022.

The IMF forecast pitches India as the fastest-growing major economy and the only one expected to record a double-

digit recovery from pandemic-hit 2020.

Question 19 :
Who among the following is the President of Federation of Indian Chambers of Commerce and Industries (FICCI) as of

April 2021?

Difficulty : Moderate Average Time : 46 Seconds

Options :
1. Uday Shankar
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Deepak Parekh

3. Girish Chandra Chaturvedi

4. Rakesh Makhija

Solution :
The correct answer is option 1 i.e. Uday Shankar.

Uday is the President of FICCI (Federation of Indian Chambers of Commerce and Industry), being the first media &

entertainment executive to lead FICCI. He has earlier been the President of the Indian Broadcasting Foundation

(IBF) and the Chairman of FICCI's Media and Entertainment Committee. 

â€‹â€‹Hâ€‹â€‹â€‹e was the President, Asia Pacific of the Walt Disney Company and the Chairman of Star and

Disney India. 

Prior to his role at Disney, Uday was the President of 21st Century Fox for Asia and the Chairman & CEO of Star

India.

Question 20 :
Which of the following is a book written by Avni Doshi?

Difficulty : Moderate Average Time : 59 Seconds

Options :
1. In Other Words

2. Burnt Sugar

3. Unaccustomed Earth

4. Interpreter of Maladies

Solution :
The correct answer is option 2 i.e. Burnt Sugar.

Avni Doshi's debut is a feminist novel set in modern-day India that ponders motherhood, memory, and the change of

roles from being a daughter to becoming a caregiver for an elderly mother.

he book tells us about Antara's relationship with her mother. The story is told by Antara's perspective, a woman who

lives in Pune, India, with her US born husband.

Tara claims towards the end of the book that Anantara missed her father the most when she was in the ashram. In

Anantara's own memories she misses her mother the most.

Question 21 :
 India banned unregulated deposit schemes through an Act passed in the year ______.
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Difficulty : Moderate

Average Time : 61 Seconds

Options :
1. 2019

2. 2016

3. 2017

4. 2018

Solution :
The correct answer is option 1 i.e. 2019.

The Banning of Unregulated Deposit Schemes Act, 2019 was notified on 21 February 2019, for providing a

comprehensive mechanism to ban unregulated deposit schemes, other than deposits taken in the ordinary course of

business, and to protect the interest of depositors.

An Act to provide for a comprehensive mechanism to ban the unregulated deposit schemes, other than deposits

taken in the ordinary course of business, and to protect the interest of depositors and for matters connected

therewith or incidental thereto.

Question 22 :
‘Ummatt-aat’ is a folk dance form performed in ______.

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. Kasauli

2. Coorg

3. Itanagar

4. Gangtok

Solution :
The correct answer is option 2 i.e. Coorg.

Ummatt-aat is performed by the women of Kodava dressing in the conventional Kodava outfit. It includes a red-

colored silk sari and a red full-sleeved Coorg blouse along with a red-colored scarf around their head.

They also wear bangles, necklaces, and other jewelry. The dance performance is done in a circling motion and a

swinging tune.

Women have brass cymbals (bells) in their arms. One woman stands in the middle holding a pot filled with water to
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resemble Mother Kaveri..

Question 23 :
Who among the following Indian wrestlers became World No. 1 in 65-kg freestyle wrestling in March 2021?

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. Bajrang Punia

2. Sushil Kumar

3. Yogeshwar Dutt

4. Pawan Kumar

Solution :
The correct answer is option 1 i.e. Bajrang Punia

Indian wrestler, Bajrang Punia became the "World Number 1" ranking in the 65 category.

He gained the rank after winning his second successive gold medal at Matteo Pellicone Ranking Series in March

2021.

The tournament was conducted by United World Wrestling.

 

 

Question 24 :
In which of the following years did the resolution at the Karachi Session of the Indian National Congress dwell on how

Independent India’s Constitution should look?

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. 1931

2. 1928

3. 1946

4. 1945

Solution :
The correct answer is option 2 i.e. 1928
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In 1928, Motilal Nehru and eight other Congress leaders drafted the Nehru Report on the Constitution of free
India.

In 1931, a resolution was passed at the Karachi session of the Indian National Congress that outlines independent

India's Constitution.

Some of the basic values like UAF (Universal Adult Franchise), the right to freedom, equality, and protection
of the rights of minorities, were accepted by all leaders much before the Constituent Assembly met to
deliberate. 

Question 25 :
Which of the following is a characteristic of fibres in relation to plant anatomy?

Difficulty : Moderate Average Time : 54 Seconds

Options :
1. Possess only pitted thickenings

2. Possess oblique end walls

3. Responsible for conduction and also mechanical support

4. Possess various shorted cells

Solution :
The correct answer is option 1 i.e. Possess only pitted thickenings

Plant fibers are elongated, most commonly sclerenchyma-supportive plant cells with thick cellulose walls with a well-

organized structure.

Cellulose natural fibers are characterised by a fibrillar structure in which the crystalline arranged parts of

cellulose form a periodic array with amorphous cellulose molecules.

 

Question 26 :
In which of the following Indian states will you find the Netarhat Mountains, also called ‘Queen of Chotanagpur’?

Difficulty : Moderate Average Time : 53 Seconds

Options :
1. West Bengal

2. Jharkhand

3. Odisha
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Chhattisgarh

Solution :
The correct answer is option 2 i.e. Jharkhand

Netarhat mountains are found in a town in Latehar district, Jharkhand. It is often referred to as the "Queen of

Chotanagpur", it is a hill station.

Some other important hills located in Jharkhand are:-

1. Parasnath Hill, which is also recognized as Sri Sammed Sikharji. It is believed in the Jain culture that 20 of the 24

Tirthankaras attained Moksha from this place, which is also one of the major hills of Jharkhand.

2. Rajmahal Hills are located in the Sahibganj and Godds districts of the Eastern part of Jharkhand.

3. Trikut Hill is located ten kilometers away from Deoghar

4. Tagore Hill, located in Ranchi, is also recognized as Morabadi Hill.

 

 

Question 27 :
Under the Jal Jeevan Mission (JJM), what is the target year to provide Functional Household Tap Connection (FHTC) to

every rural household in India?

Difficulty : Moderate Average Time : 70 Seconds

Options :
1. 2025

2. 2022

3. 2024

4. 2023

Solution :
The correct answer is option 3 i.e. 2024

The government of India has restructured and subsumed the ongoing National Rural Drinking Water Programme

(NRDWP) into Jal Jeevan Mission (JJM).

It has been to provide a Functional Household Tap Connection (FHTC) to every household, Har Ghar Nal Se Jal
(HGNSJ) by 2024.

It has a decentralized approach, which is implemented at the national, state, and district levels for specific needs

and purposes.
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The major role is played by Paani Smitis and women in mobilizing the population.

Question 28 :
 ______ is one of the languages in which the denomination is printed on the reverse of a contemporary Indian currency

note.

Difficulty : Moderate Average Time : 56 Seconds

Options :
1. Burmese

2. Sinhala

3. Nepali

4. Dzongkha

Solution :
The correct answer is option 3 i.e. Nepali

Nepali is one of the 17 languages in which denominations are printed on Indian currency notes.

On the Indian currency notes, the denomination is printed in the 22 languages mentioned in the Eight Schedule of

the Indian Constitution.

2 languages (Hindi and English) are written on the front side and the rest of the 15 are written on the back of the

side of the notes.

The 17 languages in which the denomination on the currency notes are printed are- Assamese, Nepali, Odia,
Punjabi, Sanskrit, Tamil, Telugu, Urdu, Kannada, Kashmiri, Konkani, Malayalam, Marathi, Bengali, Gujarati,
Hindi, and English.

 

 

Question 29 :
In which of the following towns will you find the ‘Kachari Ruins’?

Difficulty : Moderate Average Time : 62 Seconds

Options :
1. Shimla

2. Bilaspur

3. Gangtok
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Dimapur

Solution :
The correct answer is option 4 i.e. Dimapur.

Kachari Ruins or The Dimasa Kachari Ruins is located in the town of Dimapur in Nagaland.

The ruins are a series of mushroom domed pillars that were created by the Dimasa Kachari Kingdoms that ruled

before the Ahom invasion during the 13th century.

The Kacharis are also recognised as one of the non-Naga indigenous tribes of Nagaland.

Question 30 :
Select the most appropriate meaning of the given idiom. Hold the key

Difficulty : Moderate Average Time : 49 Seconds

Options :
1. To own a property

2. To keep a secret

3. To have control of something

4. To have the right of succession 

Solution :
The correct answer is option 3 i.e. To have control of something

Idioms: A group of words established by usage as having a meaning not deducible from those of the individual words.

"Hold the key" means to have control of something.

Example: The new formula we discovered could hold the key to increasing product yield.

Question 31 :
The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the

error from the given options. If you don’t find any error, mark ‘No error’ as your answer. My neighbour’s grandson / is only /

five month old.

Difficulty : Moderate Average Time : 62 Seconds

Options :
1. No error

2. My neighbour's grandson
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Is only

4. five month old 

Solution :
The correct answer is option 4 i.e. five month old

Given sentence: My neighbour’s grandson / is only / five month old.

Here five months is used as an adjective and is in the plural. So, plural form should be used.

Correct sentence: My neighbour’s grandson / is only / five months old.

Question 32 :
Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select 'No

improvement required'. My father was always ordering about my sister.

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. ordering on my sister

2. ordering my sister about

3. No improvement required

4. giving order for my sister

Solution :
The correct answer is option 2 i.e. ordering my sister about.

Incorrect sentence: My father was always ordering about my sister.

The preposition about should be placed after my sister as ordering about means to give orders.

Correct sentence: My father was always ordering my sister about.

Question 33 :
Select the INCORRECTLY spelled word.

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. Correspondence
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Miscellaneous

3. Exclaimation

4. Disciplinarian

Solution :
The correct answer is option 3 i.e. Exclaimation.

The incorrectly spelled word is "Exclaimation".

Correctly spelled word: Exclamation

Meaning: a sudden cry or remark expressing surprise, strong emotion, or pain.

Example: She turned, uttering an exclamation that came from nowhere.

Question 34 :
Select the option that can be used as a one-word substitute for the given group of words. Something that is strong and

lasts a long time without breaking or becoming weaker.

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. Durable

2. Harsh

3. Pliable

4. Secure

Solution :
The correct answer is option 1 i.e. Durable.

 

One Word Substitution means using a specific word to replace a wordy phrase or sentence and making it shorter, concise,

and clearer to understand.

Something that is strong and lasts a long time without breaking or becoming weaker is known as durable.

Unpleasantly rough or jarring to the senses is known as harsh.

To easily bent; flexible is known as pliable.

Secure is fixed or fastened so as not to give way, become loose, or be lost.
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Question 35 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error. You

should / have respond / to my query / sooner.

Difficulty : Moderate Average Time : 58 Seconds

Options :
1. to my query

2. You should

3. have respond

4. sooner

Solution :
The correct answer is option 3 i.e. have respond.

Given sentence: You should / have respond / to my query / sooner.

'Should have' is always used with the past participle form if the verb. So, respond should be replaced by responded.

Correct sentence: You should / have responded / to my query / sooner.

Question 36 :
Select the option that gives the most appropriate meaning of the underlined idiom. My friends succeeded because they left

no stone unturned in their search for an answer to the problem.

Difficulty : Moderate Average Time : 50 Seconds

Options :
1. depended on many people

2. made every possible effort

3. looked in different places

4. proposed good plans

Solution :
The correct answer is option 2 i.e. made every possible effort.

Idioms: A group of words established by usage as having a meaning not deducible from those of the individual words.

"Left no stone unturned" means to try every possible course of action in order to achieve something.

Page No: 21

https://study.kdcampus.live/question-answer/-14328
https://study.kdcampus.live/


Example: The researcher left no stone unturned in her search for the original documents.

Question 37 :
Select the correct passive voice of the given sentence. She is making a beautiful beaded curtain.

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. A beautiful beaded curtain was being made by her.

2. A beautiful beaded curtain was made by her.

3. A beautiful beaded curtain is being made by her.

4. A beautiful beaded curtain is made by her.

Solution :
The correct answer is option 3 i.e. A beautiful beaded curtain is being made by her.

Given sentence: She is making a beautiful beaded curtain. (Active voice)

Structure of active voice: Subject + is/am/are + V1 + ing + Object

Structure of passive voice: Objective case of subject + is/am/are + being + V3 + by + Subjective case of subject

Sentence in passive voice:  A beautiful beaded curtain is being made by her.

Question 38 :
Select the correct active voice of the given sentence. Rohan was pushed into the pool by Karan.

Difficulty : Moderate Average Time : 59 Seconds

Options :
1. Karan was pushing Rohan into the pool.

2. Rohan had pushed Karan into the pool.

3. Karan pushed Rohan into the pool.

4. Rohan pushed Karan into the pool.

Solution :
The correct answer is option 3 i.e. Karan pushed Rohan into the pool.

Given sentence: Rohan was pushed into the pool by Karan. (Passive voice)
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Structure of passive voice: Objective case of subject +was/were + V3 + Subjective case of subject

Structure of active voice: Subject + V2 + Object

Sentence in active voice:  Karan pushed Rohan into the pool.

Question 39 :
Select the most appropriate ANTONYM of the given word. Rectify

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. Corrupt

2. Select

3. Correct

4. Assist

Solution :
The correct answer is option 1 i.e. Corrupt.

Antonym: a word opposite in meaning to another.

Rectify means put right; correct.

Corrupt is the correct antonym that means to act dishonestly in return for money or personal gain.

Meaning of other words:

Select: carefully choose as being the best or most suitable.

Correct: free from error.

Assist: to help someone.

Question 40 :
Select the correct indirect speech form of the given sentence. The teacher said, “You must work hard for your exams.”

Difficulty : Moderate Average Time : 53 Seconds

Options :
1. The teacher was advising her students to do work hard for their exams.

2. The teacher told students for working hard for their exams.

Page No: 23

https://study.kdcampus.live/question-answer/-14328
https://study.kdcampus.live/


The teacher was telling her students to work hard for their exams.

4. The teacher advised her students to work hard for their exams.

Solution :
The correct answer is option 4 i.e. The teacher advised her students to work hard for their exams.

Given sentence: The teacher said, “You must work hard for your exams.”

In indirect speech, we need to remove commas and inverted commas, and the conjunction 'that' is added.

Second-person pronouns are changed according to the object of the reporting verb. So, 'you' is changed to 'her', and 'your'

is changed to 'their.'

So, the final sentence is:

The teacher advised her students to work hard for their exams.

Question 41 :
Arrange the statements in the correct order to make a meaningful paragraph. A. But, in developed societies, childhood and

adolescence are extended. B. In rural communities, the customs are more uniform. C. This provides more opportunities for

education and character development. D. The practices of child rearing vary from culture to culture.

Difficulty : Moderate Average Time : 76 Seconds

Options :
1. DABC

2. BADC

3. DBAC

4. BCDA

Solution :
The correct answer is option 3 i.e. DBAC.

The given question is an example of para jumbles.

Sentence D will be the introductory line that introduces child-rearing.

Sentence B further gives more information about the customs that are followed in rural communities.

Sentence A will be following sentence B as it tells about developed societies.

Sentence C will be the last sentence as it concludes the para.
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The correct sequence is:

D. The practices of child rearing vary from culture to culture.

B. In rural communities, the customs are more uniform.

A. But, in developed societies, childhood and adolescence are extended.

C. This provides more opportunities for education and character development.

Question 42 :
Select the most appropriate synonym of the given word. Disrupt

Difficulty : Moderate Average Time : 63 Seconds

Options :
1. Breach

2. Injure

3. Arrange

4. Organise

Solution :
The correct answer is option 1 i.e. Breach.

Synonym: Words that have the same or nearly the same meaning.

Given word: Disrupt

Meaning: to interrupt.

The word that seems to be its synonym is 'Breach' as it means an act of breaking or failing to observe a law, agreement, or

code of conduct.

Meaning of other words:

Injure: do physical harm.

Arrange: to organize.

Apathy: to arrange systematically.

Question 43 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error. The

crew / of sailors / were not perturbed / by the strong gale.
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Difficulty : Moderate

Average Time : 57 Seconds

Options :
1. of sailors

2. by the strong gale

3. The crew

4. were not perturbed

Solution :
The correct answer is option 4 i.e. were not perturbed.

Given sentence: The crew / of sailors / were not perturbed / by the strong gale.

The crew of sailors is a collective noun, so it should take a singular verb. So, were should be replaced by was.

Correct sentence: The crew / of sailors / was not perturbed / by the strong gale.

Question 44 :
The following sentence has been split into four segments. Identify the segment that contains a grammatical error. The

manager said, “Could you please / confirm me whether you / have received all the items / that you had ordered?”

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. The manager said, “Could you please

2. that you had ordered

3. have received all the items 

4. confirm me whether you

Solution :
The correct answer is option 4 i.e. confirm me whether you.

Given sentence: The manager said, “Could you please / confirm me whether you / have received all the items / that you

had ordered?”

'Confirm me whether you' should be replaced by 'confirm whether you'.

Correct sentence: The manager said, “Could you please / confirm whether you / have received all the items / that you

had ordered?”
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Question 45 :
Select the INCORRECTLY spelt word.

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. Contrary

2. Terribal

3. Longtitude

4. Manners

Solution :
The correct answer is option 2 i.e. Terribal.

The incorrectly spelled word is "Terribal.".

Correctly spelled word: Terrible.

Meaning: extremely bad or serious.

Example: Traffic was held up by a terrible accident.

Question 46 :
Select the most appropriate ANTONYM of the given word. Negligent

Difficulty : Moderate Average Time : 40 Seconds

Options :
1. Faithful

2. Strangle

3. Indifferent

4. Careful

Solution :
The correct answer is option 4 i.e. Careful.

Antonym: a word opposite in meaning to another.

Negligent means failing to take proper care of something.
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Careful is the correct antonym that means making sure of avoiding potential danger,

Meaning of other words:

Faithful: remaining loyal and steadfast.

Strangle: squeeze or constrict the neck, especially so as to cause death.

Indifferent: having no particular interest or sympathy; unconcerned.

Comprehension :
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate

option to fill in each blank. The greedy man rushed home to tell his wife and daughter about his wish, all the (1) ______

touching the objects in his path and watching (2) ______ convert into gold. Once he got home, his daughter (3) ______ to

greet him. As soon as he bent (4) ______ to scoop her up in his arms, she turned into a golden statue. He was (5) ______

and started crying and trying to bring his daughter back to life.

Question 47 :
Select the most appropriate option to fill in blank number 1.

Difficulty : Moderate Average Time : 77 Seconds

Options :
1. while

2. wayside

3. interval

4. bit

Solution :
The correct answer is option 1 i.e. while.

The passage talks about the greedy man and how his greed turned his daughter into a golden statue. The appropriate

word for blank 1 is 'while' which means at the same time; meanwhile.

Comprehension :
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate

option to fill in each blank. The greedy man rushed home to tell his wife and daughter about his wish, all the (1) ______

touching the objects in his path and watching (2) ______ convert into gold. Once he got home, his daughter (3) ______ to

greet him. As soon as he bent (4) ______ to scoop her up in his arms, she turned into a golden statue. He was (5) ______

and started crying and trying to bring his daughter back to life.

Question 48 :
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Select the most appropriate option to fill in blank number 2.

Difficulty : Moderate Average Time : 65 Seconds

Options :
1. there

2. them

3. their

4. those

Solution :
The correct answer is option 2 i.e. them.

The passage talks about the greedy man and how his greed turned his daughter into a golden statue. The appropriate

word for blank 2 is 'them' which means it is used to refer to two or more people or things previously mentioned or easily

identified.

Comprehension :
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate

option to fill in each blank. The greedy man rushed home to tell his wife and daughter about his wish, all the (1) ______

touching the objects in his path and watching (2) ______ convert into gold. Once he got home, his daughter (3) ______ to

greet him. As soon as he bent (4) ______ to scoop her up in his arms, she turned into a golden statue. He was (5) ______

and started crying and trying to bring his daughter back to life.

Question 49 :
Select the most appropriate option to fill in blank number 3.

Difficulty : Moderate Average Time : 68 Seconds

Options :
1. rushing

2. was rush

3. has rushed

4. rushed

Solution :
The correct answer is option 4 i.e. rushed.
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The passage talks about the greedy man and how his greed turned his daughter into a golden statue. As the given

sentence is in the simple past tense, so V2 form of the verb should be used.

Comprehension :
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate

option to fill in each blank. The greedy man rushed home to tell his wife and daughter about his wish, all the (1) ______

touching the objects in his path and watching (2) ______ convert into gold. Once he got home, his daughter (3) ______ to

greet him. As soon as he bent (4) ______ to scoop her up in his arms, she turned into a golden statue. He was (5) ______

and started crying and trying to bring his daughter back to life.

Question 50 :
Select the most appropriate option to fill in blank number 4.

Difficulty : Moderate Average Time : 67 Seconds

Options :
1. along

2. up

3. through

4. down

Solution :
The correct answer is option 4 i.e. down.

The passage talks about the greedy man and how his greed turned his daughter into a golden statue. The appropriate

phrase for blank 4 is 'bent down' which means to lean down.

Comprehension :
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate

option to fill in each blank. The greedy man rushed home to tell his wife and daughter about his wish, all the (1) ______

touching the objects in his path and watching (2) ______ convert into gold. Once he got home, his daughter (3) ______ to

greet him. As soon as he bent (4) ______ to scoop her up in his arms, she turned into a golden statue. He was (5) ______

and started crying and trying to bring his daughter back to life.

Question 51 :
Select the most appropriate option to fill in blank number 5.

Difficulty : Moderate Average Time : 65 Seconds

Options :

Page No: 30

https://study.kdcampus.live/question-answer/-14328
https://study.kdcampus.live/


demolished

2. devastated

3. determined

4. destroyed

Solution :
The correct answer is option 2 i.e. devastated.

The passage talks about the greedy man and how his greed turned his daughter into a golden statue. The appropriate

word for blank 5 is 'devasted' which means destroy or ruin.

Question 52 :
Select the number from among the given options that can replace the question mark (?) in the following series. 240, 120,

?, 180, 360, 900

Difficulty : Moderate Average Time : 41 Seconds

Options :
1. 120

2. 148

3. 150

4. 130

Solution :
The correct answer is option 1 i.e. 120.

Given series: 240, 120, ?, 180, 360, 900

The series follows this pattern:

240 × 0.5 = 120

120 × 1 = 120

120 × 1.5 = 180

180 × 2 = 360

360 × 2.5 =  900

So, the missing term in the series is 120.
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Hence, option 1 is the correct answer.  

 

Question 53 :
In a certain code language, ‘MANIA’ is written as ‘NZOHZ’, and ‘PROUD’ is written as ‘QSNTE’. How will ‘DONKEY’ be

written in that language?

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. EPOLFZ

2. CNONDZ

3. ENPLDX

4. ENOLDZ

Solution :
The correct answer is option 4 i.e. ENOLDZ.

The logic used here is:

, and ‘PROUD’ is written as ‘QSNTE’

M + 1 = N

A - 1 = Z

N + 1 = O

I - 1 = H

A - 1 = Z

Similarly;

Code for the word DONKEY:

D + 1 = E

O - 1 = N

N + 1 = O

K + 1 = L
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E - 1 = D

Y + 1 = Z

Hence, option 4 is the correct answer.

Question 54 :
Four letter clusters have been given, out of which three are alike in some manner and one is different. Select the letter

cluster that is different.

Difficulty : Moderate Average Time : 58 Seconds

Options :
1. CNDV

2. SYGM

3. DBJH

4. LRPV

Solution :
The correct answer is option 1 i.e. CNDV.

The logic used here is:

The Sum of letters in the letter cluster should be even.

Option 1: CNDV

CNDV = 3 + 14 + 4 + 22 = 43

This does not follow the logic.

Hence, option 1 is the odd one out.

Question 55 :
In a certain code language, LOOK is coded as 2330, and BALL is coded as 1413. How will HELP be coded in that

language?

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. 2417

2. 3461
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2415

4. 2420

Solution :
The correct answer is option 1 i.e. 2417.

The logic used here is:

LOOK is coded as 2330

L = 13

O = 15

O = 15

K = 12

L + K = 11 + 12 = 23

O + O = 15 + 15 = 30

Similarly;

Code for the word HELP:

H = 8

E = 5

L = 12

P = 16

H + P = 8 + 16 = 24

E + L = 5 + 12 = 17

Code for HELP = 2417

Hence, option 1 is the correct answer.

Question 56 :
Select the options figure in which the given figure is embedded (rotation is NOT allowed).

Difficulty : Moderate Average Time : 52 Seconds

Options :
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2.

3.

4.

Solution :

The correct answer is option 2 i.e.  .

The given figure is embedded in option 2, as shown below:

Hence, option 2 is the correct answer.  

Question 57 :
Select the correct water image of the given combination of numbers.

Difficulty : Moderate Average Time : 71 Seconds

Options :

1.
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3.

4.

Solution :
The correct answer is option 3 i.e. 

.

The water image of the question figure is shown below:

In the water image of the given figure, the top and bottom of the figure get interchanged i.e. top becomes the bottom and

the bottom becomes the top.

Hence, option 3 is the correct answer.

Question 58 :
The sequence of folding a piece of paper (figures I and ii) and the manner in which the folded paper has been cut (figure

iii) are shown in the following figures. Select the option that would most closely resemble the unfolded the figure (iii).

Difficulty : Moderate Average Time : 85 Seconds

Options :

1.
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2.

3.

4.

Solution :

The correct answer is option 1 i.e.  .

After unfolding, the paper will appear as follows:

Hence, option 1 is the correct answer.  

Question 59 :
If the numbers 15 and 21 are interchanged, then which of the following equations will be correctly balanced?

Difficulty : Moderate Average Time : 70 Seconds

Page No: 37

https://study.kdcampus.live/question-answer/-14328
https://study.kdcampus.live/


Options :
1. 62 ÷ 31 – 21 + 15 × 3 = 80

2. 26 + 21 × 15 ÷ 3 – 14 = 108

3. 24 – 21 ÷ 3 + 15 – 7 = 23

4. 63 ÷ 15 + 21 × 5 – 4 = 74

Solution :
The correct answer is option 4 i.e. 63 ÷ 15 + 21 × 5 – 4 = 74.

Given condition: 15 and 21 are interchanged

Let us check all the options:

Option 1: 62 ÷ 31 – 21 + 15 × 3 = 80

The expression becomes:

= 62 ÷ 31 – 15 + 21 × 3 = 80

= 50 is not equal to 80.

Option 2: 26 + 21 × 15 ÷ 3 – 14 = 108

The expression becomes:

= 26 + 15 × 21 ÷ 3 – 14 = 108

= 117 is not equal to 108.

Option 3: 24 – 21 ÷ 3 + 15 – 7 = 23

The expression becomes:

= 24 – 15 ÷ 3 + 21 – 7 = 23

= 33 is not equal to 23.

Option 4: 63 ÷ 15 + 21 × 5 – 4 = 74

The expression becomes:

= 63 ÷ 21 + 15 × 5 – 4 = 74

= 74 is equal to 74.

Hence, option 4 is the correct answer.

Question 60 :
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Select the combination of letters that when sequentially placed in the blanks of the given series will complete the series. Q

_ T _ S _ K _ R _ _ K _ R S

Difficulty : Moderate Average Time : 73 Seconds

Options :
1. K R Q T S K T

2. K R Q T S Q T

3. K R T R S Q T

4. K R Q T S Q R

Solution :
The correct answer is option 2 i.e. K R Q T S Q T.

The sequence is –  K R Q T S Q T

Given sequence: Q _ T _ S _ K _ R _ _ K _ R S

Option 1: K R Q T S K T

Q K T R S / Q K T R S / K K T R S

Option 1 does not form a particular pattern.

Option 2: K R Q T S Q T

Q K T R S / Q K T R S / Q K T R S

Option 2 forms a particular pattern.

Hence, option 2 is the correct answer.

Question 61 :
Select the correct combination of mathematical signs that can sequentially replace the * signs and balance the given

equation. 34 * 17 * 54 * 18 * 6 * 56

Difficulty : Moderate Average Time : 81 Seconds

Options :
1. +, ÷, ×, , =

2. ÷, , +, ×, =
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×, +, ÷, , =

4. ÷, , ×, +, =

Solution :
The correct answer is option 2 i.e. ÷, , +, ×, =.

Given equation: 34 * 17 * 54 * 18 * 6 * 56

Let us check all the options:

Option 1: +, ÷, ×, , =

The expression becomes:

= 34 + 17 ÷ 54 × 18 - 6 = 56

= 33.66 is not equal to 56.

Option 2: ÷, , +, ×, =

The expression becomes:

= 34 ÷ 17 - 54 + 18 × 6 = 56

= 56 is equal to 56.

As we have found our answer, we need not check the other options.

Hence, option 2 is the correct answer.

Question 62 :
If Arpita is the only daughter of Pritam’s wife’s mother’s husband, then how is Arpita related to Pritam’s son?

Difficulty : Moderate Average Time : 62 Seconds

Options :
1. Sister

2. Paternal granddaughter

3. Daughter

4. Mother

Solution :
The correct answer is option 4 i.e. Mother.

Page No: 40

https://study.kdcampus.live/question-answer/-14328
https://study.kdcampus.live/


In the diagram shown;

Square shows males, the circle shows females, vertical lines show generations, a single horizontal line shows brothers or

sisters, and double lines show a couple.

From the above figure, Arpita is the mother of Pritam's son.

Hence, option 4 is the correct answer.

Question 63 :
Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if

it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the

statements. Statements: No police officer is a doctor. Some doctors are specialists. All engineers are doctors.

Conclusions: I. Some engineers are police officers. II. No engineer is a police officer. III. Some doctors are engineers.

Difficulty : Moderate Average Time : 70 Seconds

Options :
1. Only conclusion II follows.

2. Only conclusions I and II follow.

3. Either conclusion I or II and III follow(s).

4. Only conclusions II and III follow.

Solution :
The correct answer is option 4 i.e. Only conclusions II and III follow.

The least possible Venn Diagram for the given statements is drawn below:
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Conclusions:

I. Some engineers are police officers  False (It is possible, but no definite conclusion can be drawn.)

II. No engineer is a police officer True (As all engineers are doctors, and no police officer is a doctor, so, no engineer is a

police officer.)

III. Some doctors are engineers True (As all engineers are doctors, so, some doctors are engineers.)

Hence, Only conclusions II and III follow.

Hence, option 4 is the correct answer.  

Question 64 :
Select the correct option that indicates the arrangement of the given words in a logical and meaningful order. 1. Displaying

2. Sketching 3. Colouring 4. Framing

Difficulty : Moderate Average Time : 80 Seconds

Options :
1. 4, 3, 1, 2

2. 2, 1, 4, 3

3. 2, 3, 4, 1

4. 3, 4, 2, 1

Solution :
The correct answer is option 3 i.e. 2, 3, 4, 1.

In this question, you need to arrange the words in a logical and meaningful order. So, the arrangement is how to sketch

and display.

1. Sketching

2. Colouring

3. Framing

4. Displaying

Hence, option 3 is the correct answer.  

Question 65 :
Select the number that can replace the question mark (?) in the given table. 5 16 77 8 19 149 13 12 ?  
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Difficulty : Moderate

Average Time : 44 Seconds

Options :
1. 153

2. 157

3. 155

4. 151

Solution :
The correct answer is option 1 i.e. 153.

The logic sued here is:

Row 1: (5 × 16) - 3 = 80 - 3 = 77

Row 2: (8 × 19) - 3 = 152 - 3 = 149

Row 3: (13 × 12) - 3 = 156 - 3 = 153

Hence, option 1 is the correct answer.  

Question 66 :
Five friends, Vishnu, Chirag, Raina, Kavya, and Surbhi, are sitting around a circular table, facing the center. Vishnu is to

the immediate right of Kavya. Chirag is third to the left of Kavya. Surbhi is not adjacent to Chirag. Who is the second to the

left of Kavya?

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. Chirag

2. Raina

3. Surbhi

4. Vishnu

Solution :
The correct answer is option 2 i.e. Raina.

According to the question, the arrangement is as follows:  
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From the above arrangement, Raina is the second to the left of Kavya.

Hence, option 2 is the correct answer.

Question 67 :
Select the option that is related to the third number in the same way as the second the number is related to the first

number. 7: 56:: 11:?

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. 132

2. 77

3. 98

4. 101

Solution :
The correct answer is option 1 i.e. 132.

The logic used here is:

7: 56

7  + 7 = 49 + 7 = 562

Similarly,

11:?

11  + 11 = 121 + 11 = 1322

Hence, option 1 is the correct answer.  

Question 68 :
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Select the Venn Diagram that best represents the relationship between the following Human, Teacher, Clerk, Peon

Difficulty : Moderate Average Time : 40 Seconds

Options :

1.

2.

3.

4.

Solution :

The correct answer is option 3 i.e. .

The possible Venn diagram is:

Page No: 45

https://study.kdcampus.live/question-answer/-14328
https://study.kdcampus.live/


All clerks, humans, and teachers are humans.

Hence, the diagram given above shows the best relationship between them.

Hence, option 3 is the correct answer.  

Question 69 :
The different position of the same dice is shown, the six faces of which are numbered from 1 to 6. Select the number that

will be on the face opposite to the one having 4.

Difficulty : Moderate Average Time : 81 Seconds

Options :
1. 1

2. 5

3. 6

4. 2

Solution :
The correct answer is option 2 i.e. 5.

In both the dice, 2 and 3 are common. So, the rest of the faces are opposite to each other.

So, 5 is opposite to 4.

Hence, option 2 is the correct answer.  

Question 70 :
The average score (runs/match) of Mithali before the start of the women’s national series was 45. In the women’s national

series of 10 matches, her total score was 500 runs. Find the total number of matches played by her till date, if her new

average after the series is 47.5.

Difficulty : Moderate Average Time : 50 Seconds
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Options :
1. 38

2. 10

3. 30

4. 28

Solution :
The correct answer is option 2 i.e. 10

Let the number of matches played by Mithali before the series be x

Then the sum of her scores in x matches = 45x

After 10 more innings, her total score becomes (45x + 500) in (x + 10) matches

Her new average score = 47.5

 (45x + 500)/(x + 10) = 47.5

 45x + 500 = 47.5x + 475

 2.5x = 25

Thus, x = 10.

So, she has played 10 matches till the date.

Hence, option 2 is the correct answer.  

Question 71 :
Select the figure from among the given options mark (?) in the following series.

Difficulty : Moderate Average Time : 53 Seconds

Options :

1.

2.
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3.

4.

Solution :

The correct answer is option 4 i.e.  .

The logic used here is:

1. Arrow is rotated by 90 degrees in the clockwise direction and is moved by one step forward in the next figure.

2. The rectangular box is rotated by 180 degrees and is moved by one step ahead in the next figure.

The series of figures:

Hence, option 4 is the correct answer.  

 

Question 72 :
Which of the option figures when rotated 180º clockwise and then 45º anticlockwise will result in the given option

Difficulty : Moderate Average Time : 85 Seconds

Options :
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2.

3.

4.

Solution :

The correct answer is option 1 i.e.  .

The figure in option 1 when first rotated by 180° in the clockwise direction and then 45° in the anticlockwise direction will

give the given figure.

Hence, option 1 is the correct answer.  
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Question 73 :
Select the number from among the given options that can replace the question mark (?) in the following series. 7, 11, 14,

25, 29, 55,?

Difficulty : Moderate Average Time : 79 Seconds

Options :
1. 59

2. 60

3. 95

4. 90

Solution :
The correct answer is option 2 i.e. 60.

Given series: 7, 11, 14, 25, 29, 55,?

The series follows this pattern:

(7 × 2) - 3 = 11

11 + 3 = 14

(14 × 2) - 3 = 25

25 + 4 = 29

(29 × 2) - 3 = 55

55 + 5 = 60

So, the next term in the series is 60.

Hence, option 2 is the correct answer.  

Question 74 :
Select the option that is related to the third letter cluster in the same way as the second letter cluster is related to the first

letter cluster. KCH: GXS:: TJD:?

Difficulty : Moderate Average Time : 51 Seconds
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Options :
1. QMX

2. PQW

3. PNH

4. QNW

Solution :
The correct answer is option 2 i.e. PQW.

The logic used here is:

KCH: GXS

K  - 4 = G

Opposite of C = X

Opposite of H = S

Similarly,

TJD:?

T  - 4 = P

Opposite of J = Q

Opposite of D = W

Hence, option 2 is the correct answer.  

Question 75 :
Select the letter cluster from among the given options that can replace the question mark (?) in the following series. DJRZ,

HDZP, LXHF, PRPV,?

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. TMXK

2. TLXM

3. ULYL
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TLXL

Solution :
The correct answer is option 4 i.e. TLXL.

Given series: DJRZ, HDZP, LXHF, PRPV,?

The series follows this pattern:

DJRZ, HDZP

D + 4 = H

J - 6 = D

R + 8 = Z

Z - 10 = P

Similarly;

PRPV,?

P + 4 = T

R - 6 = L

P + 8 = X

V - 10 = L

So, the next term in the series is TLXL.

Hence, option 4 is the correct answer.  

Question 76 :
In a certain code language, ‘cool drinks available here’ is written as ‘bhu man juk lop’, ‘available lost objects here’ is written

as ‘gan bhu nut juk’, ‘be cool search objects’ is written as ‘vax der man nut’, and ‘available drinks desert search’ is written

as ‘but juk der lop’. How will ‘lost drinks’ be written in that language?

Difficulty : Moderate Average Time : 72 Seconds

Options :
1. gan lop

2. nut gan
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lop bhu

4. juk gan

Solution :
The correct answer is option 1 i.e. gan lop.

‘cool drinks available here’ is written as ‘bhu man juk lop’, ‘available lost objects here’ is written as ‘gan bhu nut juk’, ‘be

cool search objects’ is written as ‘vax der man nut’, and ‘available drinks desert search’ is written as ‘but juk der lop’

Code for the word cool = man

Code for the word drinks = lop

Code for the word available = juk

Code for the word here = bhu

Code for the word lost = gan

Code for the word objects = nut

Code for the word be = vax

Code for the word search = der

Code for the word desert = but

So, code for the phrase 'lost drinks' is 'gan lop'.

Hence, option 1 is the correct answer. 

Question 77 :
A man bought toffees at 3 for a rupee. How many toffees for a rupee must he sell to gain 50%?

Difficulty : Moderate Average Time : 76 Seconds

Options :
1. 4

2. 1

3. 3

4. 2

Solution :
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The correct answer is option 4 i.e. 2

Cost price of 3 toffiees = Rs 1

So, the CP of 1 toffiee = Rs 1/3

For 50% profit SP of 1 toffiee = (1/3) × 150/100 = Rs 1/2

SP of 1 toffiee = Rs 1/2

So, Sp of 2 toffiees = Rs 1

Question 78 :
Cords AB and CD of circle intersect externally at P. If AB = 7cm, CD = 1cm and PD = 5cm, then the lenth of PB (in cm) is:

Difficulty : Moderate Average Time : 44 Seconds

Options :
1. 3

2. 10

3. 8

4. 5

Solution :
The correct answer is option 1 i.e. 3

Here AB = 7 cm, CD = 1 cm, PD = 5 cm and PB = x cm

PB × PA = PD × PC

 x × (x + 7) = 5 × (5 + 1)

 x  + 7x - 30 = 02

 (x + 10) ( x - 3) = 0
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 x = -0 can't possible 

PB = x = 3 cm

Question 79 :
In âˆ†ABC, AB = 7cm, BC = 10cm, and AC = 8cm. If AD is the angle bisector of BAC, where D is a point on Bc, then DC

(in cm) =?

Difficulty : Moderate Average Time : 58 Seconds

Options :
1. \(\frac{14}{3}\)

2. \(\frac{16}{3}\)

3. \(\frac{11}{3}\)

4. \(\frac{17}{3}\)

Solution :
The correct answer is option 2 i.e. \(\frac{16}{3}\)FormatFormat

AB = 7, AC = 8

BD + DC = BC = 10

BD = 10 - DC

Here, AD is the angle bisector of BAC.

So,

AB/AC = BD/DC

 7/8 = (10 - DC)/DC
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 DC = 80/15 = 16/3

Question 80 :
A tyre has 3 punctures. The first puncture alone would have made the tyre flat in 9 minutes, the second alone would have

done it in 18 minutes, the third alone would have done it in 6 minutes. If the air leaks out at a constant rate, then how long

(in minutes) does it take for all the punctures together to make it flat?

Difficulty : Moderate Average Time : 70 Seconds

Options :
1. 2

2. 6

3. 4

4. 3

Solution :
 The correct answer is option 4 i.e. 3

Let's the capacity of the tire = LCM of 9, 6, and 18 = 18

Efficiency of the first puncutres = 18/9 = 2

Efficiency of the Second puncutres = 18/6 = 3

Efficiency of the Third puncutres = 18/18 = 1

Total time = 18/(2 + 3 + 1) = 3

Question 81 :
The average of sixteen numbers is 48. The average of the first six of these numbers is 45 and that of the last seven

numbers is 53. The seventh and the eighth numbers are, respectively, 3 and 7 greater than the ninth number. What is the

average of the ninth and seventh numbers?

Difficulty : Moderate Average Time : 49 Seconds

Options :
1. 41.5

2. 40.5

3. 42
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39

Solution :
The correct answer is option 2 i.e. 40.5

Given:

The average of sixteen numbers = 48

The average of the first six of these numbers = 45 and

The average of the last seven numbers = 53

Explanation:

Let's assume the ninth number = x

Seventh number = x + 3

Eighth number = x + 7

Sum of the 16 numbers = 16 × 48 = 768

Sum of the first 6 numbers = 6 × 45 = 270

Sum of the last seven number = 7 × 53 = 371

Then,

 x + x + 3 + x + 7 = 768 - (270 + 371)

 3x + 10 = 768 - 641

 x = \(117\over 3\) = 39

Ninth number x = 39

Seventh = x + 3 = 42

Average = \({(39 + 42)\over 2 }= {81\over 2}\) = 40.5

Hence the average of ninth and seventh number is 40.5.

Question 82 :
The given pie chart represents the percentage-wise distribution of the total number of vanilla cakes and chocolate cakes

sold every day. The total number of cakes sold in a week = 10500. Study the pie chart and answer the question that

follows. The ratio of number of vanilla cakes sold to the number of Chocolate cakes sold on Saturday is 4:3, the selling

price of one Vanilla cake is Rs 8 and that of one chocolate cake is Rs 15, then the total amount earned (in Rs) by selling

all Vanilla cakes and chocolate cakes on Saturday is:
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Difficulty : Moderate

Average Time : 87 Seconds

Options :
1. 14880

2. 10488

3. 20000

4. 18480

Solution :
The correct answer is option 4 i.e. 18480

The total number of vanila and chocolate cakes sold on Saturday = 16% of 10500 = 1680

The ratio of the vanila and cholate cakes on Saturday = 4 : 3

Vanila : chocolate = (1680/7) × 4 : (1680/7) × 3 = 960 : 720

The total amount earned (in Rs) by selling all Vanilla cakes and chocolate cakes on Saturday = 960 × 8 + 720 × 15 =7680

+ 10800 = Rs 18480

Question 83 :
In a given figure, O is the centre of the circle.POQ = 54°. What is the measure (in degree) of PRQ?

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. 235

2. 137

3. 207

4. 153

Solution :
The correct answer is option 4 i.e. 153°
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In the above circle PSQ = POQ/2 = 54°/2 = 27°

PQRS is a cyclic quadrilateral.

So PSQ + PRQ = 180°

PRQ = 180° - 27° = 153°

Question 84 :
A train covers a distance of 225 km in (2rac{1}{2})hours at a uniform speed. The time taken by the train (in hours) to cover

a distance of 630 km at the same speed is:

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. 5

2. 7

3. 6

4. 4

Solution :
The correct answer is option 2 i.e. 7

Given:

Distance = 225 km

Time = \(2\frac{1}{2}\)

Concept Used:

Speed = Distance/time
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Explanation:

Speed = 225/2.5 = 90 km/h

So, time is taken to travel 630 km = 630/90 = 7 hours

 

Question 85 :
A and B are two prime numbers such that A > B and their LCM is 209. The value of B2 - A is:

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. 111

2. 102

3. 121

4. 109

Solution :
The correct answer is option 2 i.e. 102

LCM of the two numbers = 209

So, the prime factors of the number = 19 × 11 

We have given A > B, So A = 19 and B = 11

B  - A = 121 - 19 = 1022

Question 86 :
What will be the total cost (in Rs) of polishing the curved surface of a wooden cylinder at rate of Rs 50 per m2, if its

diameter is 70 cm and height is 6m?

Difficulty : Moderate Average Time : 46 Seconds

Options :
1. 624

2. 612

3. 660
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675

Solution :
The correct answer is option 3 i.e. 660

The diameter of the wooden cylinder = 70 cm

Radius = 70/2 =- 35 cm = 0.35 m

Height = 6m

CSA of wooden cylinder = 2rh = 2 × (22/7) × 0.35 × 6 = 13.2 m2

Total cost = 50 × 13.2 = Rs 660

Question 87 :
If 8A5146B is divisible by 88, then what is the value of AB?

Difficulty : Moderate Average Time : 41 Seconds

Options :
1. 15

2. 12

3. 9

4. 20

Solution :
The correct answer is option 2 i.e. 12

We have to find the value of AB in the given number 8A5146B.

The number is divisible by 88. So the number will also divisible by 11 and 8.

If the difference of the sum of alternative digits of a number is divisible by 11, then that number is divisible by 11

completely.

If the last three digits of a number are divisible by 8, then the number is completely divisible by 8.

So, the possible last digit of the number is B = 4 =  8A51464

For 11 divisibilty rule = (8 + 5 + 4  + 4) - (A + 1 + 6) = 0 or 11

 21 - 7 - A = 0 or 11
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 A = 14 Can't possible 

 21 - 7 - A = 11

A = 3

So, AB = 4 × 3 = 12

Question 88 :
The value of (dfrac{48.3 imes[(4.95)^2+4.95 imes13.25]}{[(12.25^2-(5.65)^2] imes19.8})is:

Difficulty : Moderate Average Time : 63 Seconds

Options :
1. 17.5

2. 0.175

3. 1.75

4. 175

Solution :
The correct answer is option 3 i.e. 1.75

Explanation:

We have given \(\dfrac{48.3\times[(4.95)^2+4.95\times13.25]}{[(12.55^2-(5.65)^2]\times19.8}\)

 \(\dfrac{48.3\times4.95(4.95+13.25)}{(12.55+5.65)(12.55-5.65)\times19.8}\)

 \(\dfrac{48.3\times4.95(18.20)}{(18.20)(6.9)\times19.8}\)

  34.65/19.8 = 1.75

Hence the value of \(\dfrac{48.3\times[(4.95)^2+4.95\times13.25]}{[(12.55^2-(5.65)^2]\times19.8}\) is 1.75.

Question 89 :
The expression (cos6 + sin6-1)(tan2 + cot2 + 2) + 3 is equal to:

Difficulty : Moderate Average Time : 48 Seconds

Options :
1. 0

2. 1
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2

4. -1

Solution :
The correct answer is option 1 i.e. 0

(cos  + sin -1)(tan  + cot  + 2) + 36 6 2 2

Here put  = 45°

= (cos  45° + sin  45° - 1)(tan 45° + cot 45° + 2) + 36 6 2 2

= {\((\frac{1}{\sqrt2})^6+(\frac{1}{\sqrt2})^6-1\)} (1 + 1 + 2) + 3

= {(1/4) - 1}(4) + 3

= (-3/4)(4) + 3

= 0

Question 90 :
The following bar graph shows the total number of youth (in lakhs) and the number of employed youth (in lakhs) in 5 states

A, B, C, D and E. The number of employed youth in state B is what percentage of the number of employed youth in state

E?

Difficulty : Moderate Average Time : 56 Seconds

Options :
1. 87%

2. 85%

3. 88.5%

4. 87.5%

Solution :
The correct answer is option 4 i.e. 87.5%

The total number of employed youth in State B = 7 lakhs

The total number of employed youth in State E = 8 lakhs 

Required percentage = (7/8) × 100 = 87.5%

Question 91 :
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From the point P on a level ground, the angle of elevation of the top of the tower is 30°. If the distance of point P from the

foot of the tower is 510m, then 50% of the height of the tower (in m) is:

Difficulty : Moderate Average Time : 46 Seconds

Options :
1. 85

2. 86

3. 85\(\sqrt{3}\)

4. 150\(\sqrt{3}\)

Solution :
The correct answer is option 3 i.e. 85\(\sqrt{3}\)

In the above diagram,

PQ = 510 m

Let's assume the height of the tower QR = x cm

In â–³PQR

tan  = QR/PQ

tan 30° = x/510

x = 510 × \(\frac{1}{\sqrt3}\) = 170\(\sqrt3\)

So, the 50% of the height of the tower =  170\(\sqrt3\)/2 = 85\(\sqrt3\) m

Question 92 :
The following bar graph shows the total number of youth (in lakhs) and the number of employed youth (in lakhs) in 5 states

A, B, C, D and E. How many youth (in lakhs) are unemployed in states A and C taken together?  

Difficulty : Moderate Average Time : 69 Seconds
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Options :
1. 2.8

2. 3

3. 2.25

4. 2.85

Solution :
The correct answer is option 2 i.e. 3

The total number of unemployed youth in state A = 12 - 10.5 = 1.5 lakhs

The total number of unemployed youth in state C = 11.5 - 10 = 1.5 lakhs

So, the total number of unemployed youth in state A and C = 1.5 + 1.5 = 3 lakh

Question 93 :
In âˆ†ABC, D is a point on side BC such that ADC = BAC. If CA = 15cm and CD = 9cm, then CB (in cm) =?

Difficulty : Moderate Average Time : 44 Seconds

Options :
1. 15

2. 25

3. 12

4. 10

Solution :
The correct answer is option 2 i.e. 25
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The length of AC = 15 cm

The length of DC = 9 cm

In âˆ†ABC and âˆ†ADC:

D = A Given

ACB = ACD (Given)

So, âˆ†ABC ~ âˆ†ADC

AC/BC = DC/AC

15/BC = 9/15

BC = 225/9 = 25 cm

Question 94 :
if 2(sqrt{2})x3 - 3(sqrt{3})y3 = ((sqrt{2}x-sqrt{3}y))(Ax2 -Bxy + Cy2), then the value of (A2 + B2 + C2) is:

Difficulty : Moderate Average Time : 53 Seconds

Options :
1. 16

2. 11

3. 19

4. 18

Solution :
The correct answer is option 3 i.e. 19

We have given, 2\(\sqrt{2}\)x  - 3\(\sqrt{3}\)y  = (\(\sqrt{2}x-\sqrt{3}y\))(Ax  - Bxy + Cy )........(1)3 3 2 2

We know that a  - b  = (a - b) (a  + ab + b )3 3 2 2

So,  2\(\sqrt{2}\)x  - 3\(\sqrt{3}\)y  =  (\(\sqrt{2}x-\sqrt{3}y\)) (2x  + \(\sqrt{6}\)xy + 3y )..........(2).3 3 2 2

Comparing eq 1 and eq 2

A = 2

B = -\(\sqrt{6}\)

C = 3 
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So, the value of (A  + B  + C ) = (2  + ( -\(\sqrt{6}\))  + 3 ) = 192 2 2 2 2 2

Question 95 :
The given histogram shows the heights of 232 students of an athletic club and their numbers. Study the histogram

carefully and answer the questions that follows.   What is the average height (in cm) of 32 tallest students of the athletic

club? Express your answer correct to one place of decimal.

Difficulty : Moderate Average Time : 83 Seconds

Options :
1. 165.4

2. 167.4

3. 166.4

4. 164.4

Solution :
The correct answer is option 4 i.e. 164.4

The number of students of 160 - 165 cm = 20

The number of students of 165 - 170 cm = 12

Avg height = (160 + 165)/2 = 162.5

(165 + 170)/2 = 167.5

So, the average height = (20 × 162.5 + 12 × 167.5)/32 = 5260/32 = 164.375  164.4

Question 96 :
P  and Q start a shop with a capital of Rs 1,50,000 and Rs 4,50,000 respectively. After a year, out of the profit of Rs

1,60,000, P gets his share of proit plus some money that is not a part of the profit, as his salary. If P gets a total of RS

70,000, what is the salary (in RS) he received?

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. 40,000

2. 30,000

3. 25,000
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50,000

Solution :
The correct answer is option 2 i.e. 30,000

Explanation:

The ratio of the capital of P and Q = 1,50,000 : 4,50,000 = 1 : 3

The ratio of the profit will also same as the ratio of their capital.

So, the profit = 1 + 3 = 1,60,000

4 = 1,60,000

1 = 40,000

So, the sallery of P = 70,000 - 40,000 = Rs 30,000

Question 97 :
If x + y + z = 18, xyz = 81 and xy + yz + zx = 90, then find the value of .

Difficulty : Moderate Average Time : 44 Seconds

Options :
1. 6

2. 12

3. 9

4. 10

Solution :
The correct answer is option 1 i.e. 6

x + y + z = 18

Square on both sides

x  + y  + z  + 2 (xy + yz + zx) = 3242 2 2

x  + y  + z  + 2 (90) = 3242 2 2

x  + y  + z  = 324 - 180 = 1442 2 2

x  + y  + z  - 3xyz = (x + y + z) (x + y  + z  - (xy + yz + zx))3 3 3 2  2 2
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x  + y  + z  - 3 × 81 = 18 (144 - 90)3 3 3

x  + y  + z  = 12153 3 3

So, the value of   = (1215 + 81)  = 1296  = (6 )  = 61/4  1/4 4 1/4

Question 98 :
If 5 sin - 4cos =0, 0°    90°, then the value of (rac{5sinÎ¸ -cosÎ¸}{5sinÎ¸ +3cosÎ¸})  

Difficulty : Moderate Average Time : 75 Seconds

Options :
1. \(\frac{2}{7}\)

2. \(\frac{3}{7}\)

3. \(\frac{6}{7}\)

4. \(\frac{4}{7}\)

Solution :
The correct answer is option 2 i.e.  \(\frac{3}{7}\)

We have given,

 5 sin - 4 cos =0

5 sin  = 4 cos  

sin /cos  = 4/5

So, the value of \(\dfrac{5sinÎ¸ -cosÎ¸}{5sinÎ¸ +3cosÎ¸}\) = (5 × 4 - 5)/(5 × 4 + 3 × 5) = 15/35 = 3/7

Question 99 :
A shopkeeper marks an artical at a price 20% higher than its cost price and allows 10% discount. Find his gain

percentage.

Difficulty : Moderate Average Time : 52 Seconds

Options :
1. 9.5%

2. 8%

3. 9%
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10%

Solution :
 The correct answer is option 2 i.e. 8%

Let's assume the cost price =  Rs 100

So, the marked price = 100 × 120/100 = Rs 120

After 10% discount, the selling price = 120 × 90/100 = Rs 108

Profit percentage = (108 - 100)/100 = 8%

Question 100 :
A spends 65% of his income. His income is increased by 20.1% and the expenditure is increased by 20%. By what per

cent (correct to one decimal place) does his saving increase or decrease?

Difficulty : Moderate Average Time : 44 Seconds

Options :
1. Increase by 20.3%

2. Decrease by 17.7%

3. Increase by 21.5%

4. Decrease by 18.9%

Solution :
The correct answer is option 1 i.e. Increase by 20.3%

Let's assume the income of A = 100

Income - Expenditure = Savings

100 - 65 = 35

His income incresed by 20.1% = 120.1

Expenditure is incresed by 20%. = 120% of 65 = 78

120.1 - 78 = 42.1

So, percentage increased in Savings = (42.1 - 35)/35 × 100 = 20.3%
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Analysis
The analysis of Ssc Cgl Tier I Previous Year Question Paper held on 2022-04-13 in the Afternoon exam is as follows:

1. 100 questions were moderate.

2. The safe score is 140 marks.

3. 25 questions were asked from General Awareness, 25 questions were asked from Quantitative Aptitude, 25

questions were asked from English Language and 25 questions were asked from Logical Reasoning

4. 13 questions should have been skipped if you were short of time.

Ssc Cgl Tier I Previous Year Question Paper Topic
Wise Weightage

General Awareness
1. GK Misc - 25

Quantitative Aptitude
1. Average - 1

2. Comparison Of Quantities - 24

English Language
1. Cloze Test - 5

2. Spotting Error - 4

3. Parajumbles - 1

4. Idioms - 2

5. One Word Substitution - 2

6. Voice - 2

7. Transformation Of Sentence - 1

8. Sentence Improvement - 2

9. Synonym - 2

10. Antonym - 2

11. Incorrectly Spelt - 2

12. Incorrectly Spelt - 2

Logical Reasoning
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Coding Decoding - 3

2. Analogy - 2

3. Classification - 1

4. Seating Arrangement - 1

5. Blood Relations - 1

6. Syllogism - 1

7. Venn Diagrams - 1

8. Dictionary Based - 1

9. Figure Based - 5

10. Matrix - 1

11. Series - 4

12. Mathematical Reasoning - 3

13. Cubes And Dice - 1

Ssc Cgl Tier I Previous Year Question Paper Tips
and Tricks

1. Try to solve Ssc Cgl Tier I Previous Year Question Paper without taking any help from the solutions.

2. Ssc Cgl Tier I Previous Year Question Paper require proper usage of concept so firstly read the question thoroughly

and then use the right concept.

3. In case you're not able to solve the question in less than 30 seconds in the exam then you should skip the question

and move to the next question.

Daily Current Affairs
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KD Live is providing Current Affairs on a daily basis for SSC and a Current Affairs Quiz too for the practice.

KD Live Free Offerings

KD Live is Offering Every Information and Study Material required for the self study. Please click on the following links for

accessing those.

Study Plan

General Science

General Awareness

General Knowledge

Quantitative Aptitude

Logical Reasoning
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English Language

Today In History

Syllabus

Know Your State

Know Your Country

Know Your City

Know Your Leader

Books And Authors

Daily Vocabulary

Daily Editorial

Latest Notifications

Exam Dates

Admit Card

Exam Results

Exam Cutoff

Exam Eligibility

Exam Pattern

Answer Key

Important Days

Further Guidance on Ssc Cgl Tier I Previous Year Question Paper
For Asking any query on Ssc Cgl Tier I Previous Year Question Paper please mail Send Email or you can fill the form at

KD Live.

About KD Live
KD live has an expertise in providing apt explanations for the Ssc Cgl Tier I Previous Year Question Paper since 2008.

More than 10 lakh aspirants have cleared competitive exams under the guidance of Neetu Mam. Study.kdcampus.live is

providing free information on various topics and for the Ssc Cgl Exam you can refer the following link Click Here however if

you want to practice more questions then please refer the following link Click Here.

About Neetu Mam
Neetu Mam is primarily passionate for the English language and teaching from the last 20 years however for the Ssc Cgl

Tier I Previous Year Question Paper. She has guided her team to provide the best explanation for the question.
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